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_A_B _$_B __AsA
(1) 9ha = gm?

(2) 7Tem? = pmm?

(3) 8m? = cha

(4) 9a = ocm?

(5) Sm? = okm?

DT ML TEHISH A RX]  (https://chugakujyuken-sansuu. com/) L YERTHHLO—KFTEET,



EuomE mHKo)

(1) %ha = 90000 m?
<Rt
lha =100a
=10000m?
£2T. 9x10000 = 90000m?
(2) 7em? = 700 mm?
<fEER>
lem? =lcmxlcm
=10mmx10mm
=100mm?
£2T. 7100 = 700mm?
(3) 8m? = (.0008 ha
<fiREn>
lha =100a
=10000m?
£2T. 8+10000 = 0.0008ha
(4) 9a = 9000000 cm?
<fE &>
la  =100m?
Im? =ImxIm
=100cmx*x100cm
=10000cm?

1al&10000x100 = 1000000cm?
&2, 9%x1000000 = 9000000cm?

(5) 5Sm? = 0.000005 km?

<fiRER>

1km? =1kmx1lkm
=1000mx1000m
=1000000m?

£2T. 5+1000000 = 0.000005km?
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